R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4216-19.dwg, TX-4219

PRODUCTS, I NC.

8811 West Market Street
Colfax, NC 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
Intemational Residential Code {IRC), Sections R301 & R413 and the 2004
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and
2404 {including Texas revisions) subject to the following conditions:

1. Anchors shall be s listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the BC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.
4. Conditions not covered by this drawing are subject to further engineering
analysis,
TABLE OF CONTENTS
SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Lock details (Hoppe HLS 2000}
3 Door panel details (Fiber Classic - flush glazing)
4 Door panel details (Smooth Star - flush glazing)
5 Horizontal cross sections
6 Vertical cross sections
7 Vertical cross sections
8 Frame anchoring

112.38" MAX. OVERALL

FRAME WIDTH

5
A;\m%:\i‘_‘. ;,"J;Q .

e H
[l
[ 4 .
i et

4
oi 4l
i 0 g

A
EXed

Al

LYNDON F. SCHN

s 104123 ¢
'é_{{‘)ﬂ'ﬂ«:‘??.’"

97.78" MAX. OVERALL FRAME HEIGHT {INSWING])

96.97" MAX. OVERALL FRAME HEIGHT [OUTSWING]

) (o)

FIBER CLASSIC | +30.0 -30.0 +50.0 -50.0
SMOOTH STAR | +30.0 -30.0 +35.0 -35.0

u
aq
—
33
Ex o
£ s}
[ . "
lﬂh,! "
‘0 ~
L. Iﬂm
[ -
o
°§ Qv
b+ 0 O
;\I—* T n
| G
>m
om
[¢]
™~
®
[«]
1]
d
[+

BUILDING CONSULTANTS, INC,

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR _ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NOQ+ DATE

REVISIONS

oaTE: 9/06/12

SCALE:  N.T.5,

DWG, BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4219

SHEET _] oF 8




TON] SLNVLINENDD SNIQHUNE M8 2102 O

7B i—d # NOLVALSIONY 40 ALYDLIINTD SNOISIAZY
SHIINIONZ TVNOISSAJOHd 40 CUVOE SYX3L mao%.mﬂmm.w% %%%%Iv Ad 3ivd [ON| | | ol o 8_
m e . - |V i
c1g : 3] by
s SIS T 03 NERERIE
"ONI *SINVLINSNOD ONITNING ~ . £ | 2_
VENONT o |&|&lg X
$ZL¥0LF "3'd SYXIL 3 m gl z H
Ad PILLUOS '4 USPUAT g paddeld BueLUNoog 119Na0Nd = ElS m 5
:WN.QW I|v E :m-NN
—-mm-m
3
i [T * M
[ Y s w
a2
5

HOPPE MULTI-POINT LOCKSET
Manual Tongue/Shootbolt

i F0'01

#8X 3" PFH WS §
#8 X 3" PFH WS *
iy

= 8’8 _

7
o]
o
-
LATCH & DEADBOLT STRIKE PLATE

1.35"

900 | I |!_

LS}

MULTI-POINT STRIKE PLATE

—
=
O
a-
fid
reed
0
=
w
o
o
o
=

LOCKSET

1HORBH TVI3A0

LHOEH 31ONVH

MANUAL TONGUE/SHOOTBOLT GEAR SYSTEM

b7 'BMPET-91Zb-X L\sBumelq damy ‘a\S/9T Jd\00LT - 09T foud\s:opjod walolg\sa{old - v\



— 12

EXTERIOR

N\

HINGE STILE /

(WOOD)

35.81" MAX,

/"1 "\ HORIZONTAL CROSS SECTION

)

PANEL WIDTH

23.75" MAX

D.L.O. WIDTH

95.09" MAX. DOCR
PANEL HEIGHT
78.75" MAX
D.L.O. HEIGHT

J/’
4

THERMA TRU - Fiber Classic Panel
Flush glazed
(fiberglass)

EXTERIOR

402"
v hed .'Il—\ *
S |
e
LATCH STILEX
[LVL)

. 9/16"GLASS

BITE
11/16" THK. GLASS

1/8" TEMPERED
1" ocuas

K [ AR SPACE

T 1/8" TEMPERED

GLASS
ALUMINUM SPACER
QSO SEALANT
GLAZING DETAIL

TOP RAIL

{COMP,)

FIBERGLASS SKIN

(.075" MIN.) \

0.93" ——"-*"1

Lynden F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.; 813.659.9197

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

EXTERIOR

ENDURA
FIBER CLASSIC — FLUSH GLAZED)

PART OR ASSEMBLY:

PRODUCT:

BY ( DOOR/SIDELITE PANEL DETAILS

FOAM CORE
(POLYURETHANE - ]
1.9 PCF MIN.)

BOTTOM RAIL
[COMP)

NO! DATE

DATE: 9/06/12

SCALE:  N,T.S,

DWG. BY: JK

CHK. BY: LFS

/"2 \ VERTICAL CROSS SECTION
3

DRAWING NO.:
TX—4218

SHET _3_oF 8

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4216-19.dwg, 3.4

REVISIONS

© 2p12 R.W. Bun.DiNG CONSULTANTS INB.



R\\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4216-19.dwg, 4.4

o A

- 1.68" —]

EXTERIOR

\

35.81" MAX.
PANEL WIDTH

23.75" MAX

LATCH STILE
(WOOD/LVL}

-
Z Z

INTERIOR

118" -

7“1 "\ HORIZONTAL CROSS SECTION

\&/

D.L.O. WIDTH

95.09" MAX. DOOR
FPANEL HEIGHT
7B.75" MAX

D.L.O. HEIGHT
4
x
P

7
Vi
/

THERMA TRU - Smooth Siar Panel

Aush glozed
{fiberglass)

EXTERIOR

INTERIOR

9/16" GLASS
BITE

11/16" THK. GLASS

1/8" TEMPERED
" olass

K Saw—— AIR SPACE

T 1/8" TEMPERED

GLASS

ALUMINUM SPACER
QSO SEALANT

G1 GLAZING DETAIL

HINGE STILE
{(WOOD)

- 1.48" —=

TOPRAL

(COMP.} T
FIBERGLASS SKIN |

o,

o

[.075" MIN.) \

EXTERIOR INTERIOR
FOAM CORE
(POLYURETHANE -
1.9 PCF MIN,)
N
BOTTOM RAIL <
[COMP.) ™ |
S

@ VERTICAL CROSS SECTION
4

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prapared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11B52

ENDURA
DOOR/SIDELITE PANEL DETAILS
(SMOOTH STAR — FLUSH GLAZED)

PART OR ASSEMBLY:

PRODUCT:

BY

NO. DATE

REVISIONS

oATE: 9/06/12

SCALE:  N.T.S,

DWG. BY: JK

CHK, BY: LFS

DRAWING NO.:
TX—4219

SHEET 4 ofF 8

© 2012 R.W. BUILDING CENBULTANTS ING.



ul
1 E 9 "
3 7 174" MAX. -‘gé o ﬁﬁ
SHIM SPACE . 4B ZC
SIDELITE PANEL JAMB EXT. SHEATHING Ay g8 27
lm?b“;——sl L 1™ = d s u:;
/ / / ERIERIR e I FHE S
/ 4 4 5F BI8 BE
7/ 4 /' 3 ;g,.,-ﬁé
I / / ; / o5 b
.y 2 8 N . €08
~ TP AT A 0] 18T @ x 2 o
/—\ 7 b % cg z; 3 lol-
1 2X FRAMING s § & ;
= \y b / (G >=0.42) g a En% %%
v #8 X 2.5" COURSE THREAD / A : D %E
DRYWALL SCREW i g i
X I O (See Note 1) / 3 @ = ©
(3N " 8
5 - [ P T T
| N _— T
// i/ HOPPE HLS 9000 TONGUE/SHOOTBOLT e e CRINK DRYWALL %
Vi 4// | YP.) #10X 2.5" PFH of o8
! WOOD SCREW g 3. 85
| = b g"da"
Z 2% v
) 71"\ HORIZONTAL CROSS SECTION “oFE 98
5 Pt CORNER PADS {TYP.) W Outswing shown - Inswing also approved ﬁ x%
N 3 &
23N (2 =
6 N\ 6/ g &
0.75" —f=—= 15" ] &
#8 X 3/4" PFH SMS 4"HINGE
X / DOOR PANEL LATCH STRIKE PLATE
#8 X 2.5" PFH WOOD SCREW 48X 1" PFH SMS
/ SIDELITE PANEL / I~ #8 X 3" PFH WS %
= = o
- SL ~ o
N -~ = P o
| % S 2
I / ENDURA WEATHERSTRIP / IR
#8 X 2.5" COURSE THREAD {QEBD 650) S "
, . 95 DRYWALL SCREW DOOR PANEL SIDELITE PANEL ke
—{ 125 | - {See Nofe 1) #8 X 2.5" COURSE THREAD -
JAMB / HEAD FATBOY MULLION DRYWALL SCREW — S
PINE PINE (See Note 1) S
4-3/8" FATBOY PINE MULLION DwTE_5/06/12
w/ SCME:  N.T.S.
4-3/8" FATBOY PINE MULLION DWC. BY:  JK
NOTE: CHK. BY: LFS
1. Spacing for sidelite screws: 6.5", 35.5", m HORIZONTAL CROSS SECTION m HORIZONTAL CROSS SECTION DRAWING NO.:
57.25" and 85" from head to sil (4 total). W Qutswing shown - Inswing also approved w Outswing shown - Inswing also approved TX—-4219
SHEET _5 oF _8

R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4216-19.dwgq, 5.4

@ 20712 R.W. BuiLDING CONSULTANTS ING.



Ri\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4216-19.dwg, 6.4

2X FRAMING
(G >=0.42)

—

. T

EXT. SHEATHING \

14" MAX,

SHIMSPACE |

S /- DRYWALL

C 110X 2.5 PFH
1| woopscrew

EXTERIOR

7“1\ VERTICAL CROSS SECTION

0.15"
C'SINK
(TYP.)

u

\— HEAD

DOOR PANEL
ENDURA WEATHERSTRIP \ A\

(QEBD 650)

&/

ENDURA THRESHOLD
(2-SERIES OUTSWING )
INTERIOR

-

EXTERIOR

\X

#10 X 2.5" PFH WOOD SCREW

1/4"X 2-3/4" ELCO OR
ITW CONCRETE SCREW

JSRUAATRARAAIRIRERY

m VERTICAL CROSS SECTION
\U Outswing configuration

Outswing shown - inswing
also approved

ENDURA WEATHERSTRIP
[QEBD 650)
INTERIOR
EXTERIOR y”\
DOOR PANEL \
ENDURA DOQOR SWEEP —\
(DBK-R} %
ENDURA THRESHOLD
(Z-SERIES INSWING)
=%y

77

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123
P.C. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC,

Documsanias Prepared By:
WF‘hone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

INTERIOR

/"3 \ VERTICAL CROSS SECTION
w Inswing configuration

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
MW CONCRETE SCREW

ENDURA
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NOJ DATE

patE: 9/06/12

SCALE:  N.T.S.

DWG. BY: JK

CHIC BY: LFS

DRAWING NO.:
TX—4219

SHEET 6 oF 8

© 2012 R.W. BUILDING CONBULTANTS INC.



Ri\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4216-19.dwg, 7.4

2X FRAMING
(G >=0.42)

=

r

r

DRYWALL\ gy

1/4" MAX,

X
R

E

: /— EXT. SHEATHING

1 #10x 2.5 PFH

e —

"

WOOD SCREW

SHIMSPACE |

0.8
C'SINK
(TYP.)

SIDELITE PANEL \

#8 X 2.5" COURSE THREAD
DRYWALL SCREW —— |
{See Note 1} /
I/

INTERIOR

\— HEAD

EXTERIOR

7“1\ VERTICAL CROSS SECTION

ui

w Inswing shown - OQutswing also approved

EXTERIOR INTERIOR

SIDELITE PANEL \

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
[See Note 1)

=

ENDURA THRESHOLD W/ SIDELITE SPACER
(Z-SERIES QUISWING)

J

NS
)

B

| “_._ng][ 1
’7 7/4 N

N\ I

- #10 X 2.5" PFH WOOD SCREW

174" X 2-3/4" ELCO OR
MW CONCRETE SCREW

T

m VERTICAL CROSS SECTION
W Outswing configuration

INTERIOR

SIDELITE PANEL \

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(See Note 1)

NOTE;
Spacing for sidelite screws:
4" from each end {2 fotal}.

1.

A\ EXTERIOR

ENDURA THRESHOLD W/ SIDELITE SPACER
(Z-SERIES INSWING)

AN N N\

NS

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

@ VERTICAL CROSS SECTION

tnswing configuration

SNV ANTAY

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33585

BUILDING CONSULTANTS, INC,
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA
Steel DOOR

PART OR ASSEMBLY:

PRODUCT:

NO| DATE

REVISIONS

baTtE: 9/06/12

SCALE:  N.T.S,

Dwe. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—42189

SHEET 7 oF 8

© 2012 R.W. BULDING CONSULTANTS ING.



s O e
% o 2X framing (by others) f!é 3 o B9
Er’ O 5 " @. 6" -g e % ii" E
o " 2 — ou gm 87
o0 O — ] Ll (TYP.‘) . 4 ] zZ 3
(& ] (TYP_] 6" ™ o = E] B L
J——. 1 e s
| | —om || R
T]__— SEE HINGE Ft T N1 10 1 { 57 5§¢ ag
» » ] ? > 0
Tﬁg DETAIL 1 \7 j Zak laé
" #10 X 2.5" PFH DETAIL 1 DETAIL 1 i & SN: &g
X WOOD SCREW . o 28% u,
& (TYP. @ HEAD DETAIL 2 ©E B Z8, S
AND JAMBS) & As s gg
- " ke n m
o L \ I
3 i \ PR B8
M Shootbolt Strike Plate @ 3
] i Head Jamb °
[T
L ot —
2 | /
e SEE HINGE e @iﬁj o o
DETAIL 2 \\ o
. r 3 2
B T a |32
= #10 X 2.5 PFH WS & |50
= o s
{ DETALL 1 X DETALL 1 =5 DETAIL 2 9 £
5 ™ i
BQ —& /\ / ~N O g x
. B = fan ]
i I i I [ I Il N I S ’g
b \_/' o o
7 £P) ol | =
£MP) == e yp #10 X 2.5" PFH WOOD SCREW 3
¢ (e, 1/4" ¥ 2-3/4" ELCO OR
ITW CONCRETE SCREW
HINGE JAMB FLOOR SUBSTRATE MATERIAL {TYP.) FRAME ANCHORING
— CONCRETE {MiN. 3000 PSI) ) (TYP @SILL)
WOOD (G >=0.42)
)
* . . #8 X 3" COURSE THREAD b
NOTE: This anchor required for D.P. > 40 PSF. DRYWALL SCREW g
ol
oz
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the comers may be adjusted fo maintain the min., DETAIL 1
edge distance to mortar joinls. | TRy
2. Concrete anchor locations nofed as "MAX. ON CENTER" must be adjusted to ntegral muliion aftachment E
maintain the min. edge distance fo mortar joints, additional concrele anchors o B 4
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 2-1/2" PFH WS ‘)\ . .
3. Concrete anchor table: / |~ #8 X 2-1/2" PFH W3 e
‘ 4:‘ 5 rna pate: 9/06/12
" = nit- .
oy ANAL #EXT'PRHWS <=0 I == #8 X 3/4" PFH WS 48X 1" PFH WS £ [ Sl . sce: N.T.S.
d @ /4 1-3/4" 21/7 3 \! | 4 XATHINGE 1 4" X 4" HINGE CHK.. sv:. LFS
TAP gON W A\ DRAWING NO.:
ELCO . TX—4219
® 1] - " w

R:VA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4216-19.dwg, 8.4

@ 2012 R.W. BLUILDING CONSULTANTS ING.



